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New Year’s Eve
For many people in the west, New Year’s Eve is the biggest party of

the year...
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The interim government of Iraq has announced further sweeping se-
curity measures to try to prevent insurgents from disrupting Election Day
on January the 30th. The Interior Minister Falan Al-Nagib said Baghdad
Airport will be shut down for 2 days and there’ll be widespread curfews.
The movement of cars and pedestrians will also be restricted. From Bagh-
dad Caroline H. reports: Iraq’s first multi-party elections in nearly half a
century will be marked by an unprecedented security operation. Iragi police
and national guardsmen will protect the actual polling stations...
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Listen to the following passage. Altogether the passage will be read to you
four times. During the first reading, which will be done at normal speed, listen
and try to understand the meaning. For the second and third readings, the pas-
sage will be read sentence by sentence, or phrase by phrase, with intervals of 15
seconds. The last reading will be done at normal speed again and during this
time you should check your work. You will then be given 2 minutes to check
through your work once more.
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« @ Cars in the Future @ « _

As big cars cause many problems, / such as pollution, shortage of parking
space, crowded traffic, / scientists are now trying to design some small cars that
may some day replace today’s big automobiles. / If more people begin to drive
such cars in the future, / there will be less air pollution. / There will also be more
space for parking cars in cities, / and the streets will be less crowded. / Three such
cars can fit in the space / that is now needed for one car of the usual size. / The
little cars will cost much less to own and to drive. / Driving will be safer as these
cars can only go 60 kilometers per hour. /

The cars of the future will be fine for driving around the city. / However, they
will not be suitable for long trips, / because these cars by petrol can only go 450
kilometers / before needing to stop for refueling. /
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Test |

Listen to the following passage. Altogether the passage will be read to you
four times. During the first reading, which will be done at normal speed, listen
and try to understand the meaning. For the second and third readings, the pas-
sage will be read sentence by sentence, or phrase by phrase, with intervals of 15
seconds. The last reading will be done at normal speed again and during this
time you should check your work. You will then be given 2 minutes to check
through your work once more.
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The Greenhouse Effect

To get a better understanding of global warming, / it is important to understand
the greenhouse effect. / The greenhouse effect is the rise in the temperatures /
caused by absorption of the Sun’s heat and light by the Earth’s surface / which
then is reflected back and trapped within the Earth’s atmosphere. / The greenhouses
gases, help to keep the Earth warm, / and this is the reason why life on Earth has
existed, and still thrives. / However, with an increase in the gases like carbon
dioxide, ozone, / and water vapor in the atmosphere, / as an outcome to growing
environmental pollution; / industrial, domestic, and loss of vast stretches of grassland
and rain forest, / Earth has gotten nearly 14% hotter / than what it used to be 50
years ago, / with 2005 being recorded as the hottest year ever. / Besides humans
and plants, global warming effects on animals is a cause of concern. /
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Test E]

Listen to the following passage. Altogether the passage will be read to you
four times. During the first reading, which will be done at normal speed, listen
and try to understand the meaning. For the second and third readings, the pas-
sage will be read sentence by sentence, or phrase by phrase, with intervals of 15
seconds. The last reading will be done at normal speed again and during this
time you should check your work. You will then be given 2 minutes to check
through your work once more.
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Christmas Candles
Frankly speaking, Christmas candles are no different / from any other decora-
tive candle / that you might find in the shops all through the year. / But the very
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fact that they are lit up during Christmastime gives them the look of a festival. /
Christmas candles are big in size and designed in several shapes. / You will find

the common round shapes /—Christmas candles tend to play up on the thickness so
that they can burn longer, / all through the Christmas Eve if desired. /

Traditional colors of Christmas candles are preferably red or golden, the colors
of the season. / But you will find all colors on the shelves nowadays. / However, if
other colors are used, / they are often decorated with obvious Christmas designs / to
make them part of the season. / Red and golden candles are usually kept as they
are, / because the colors themselves lend grace to the season. /
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